(TkmXE X DE]

| Bt | 244 | €ury | D b h =
1 4:07 22 +F 1Tkm O—X KERDER
2 4:17 16 AUAN 1Tkm O—X KERXDER
3 4:40 3 ~Nl1)— 1Tkm O—X KERXDER
4 5:31 18 LA 1Tkm O—X KERXDER
5 5:34 12 TAYD 1Tkm O—X KERXDER
6 5:40 6 &HL 1Tkm O—X KERXDER
7 5:54 13 IR Tkm O—X KERXDEB
8 5:58 23 DA 1Tkm O—X KERXDER
9 6:16 20 HF 1Tkm O—X KERXDER
10 6:30 1 cosmo 1km O—RX KERDER
11 6:37 8 h4y 1Tkm O—X KERXDER
12 6:43 2 shabby 1km O—X KB RDER
13 6:52 4 LEY 1Tkm O—X KERXDER
14 7:05 25 AUAN 1Tkm O—X KERXDER
15 7:18 15 Trad(F5YK) 1Tkm O—X KERXDER
16 7:24 21 . 1Tkm O—RX KERXDER
17 7:44 19 o0 1Tkm O—RX KERXDER
18 7:56 5 Z3A 1Tkm O—X KERXDER
19 8:55 7 A 1Tkm O—X KERXDER
20 11:25 11 Ocean 1Tkm O—X KERXDER
21 13:17 10 LY 1Tkm O—X KERXDER
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